Opérations avec deux fractions mixtes (C)

Nom:

10.

Date:

Calculez chaque résultat.
52-32 = — - = — - = — = —
52—1%=———= — = = —
I5X52 = —x—= — =-—= —
S2+lo = —t— = —x— = — = —
5%—41—62=———= — = = —
5%+2% = —+— = + = = —
5§+11—(5)=—+—= + = = —
52425 = —h— = —t— = — = —
52457 = —+— = —x—=—= —
52;80+5%=———= X = = —

Note:
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Opérations avec deux fractions mixtes (C) Réponses

Nom:

10.

Date:

Calculez chaque résultat.

dorg = -2
dos? = B3
52e52 = 2+ 2
S +5s = oo

627 372 _
114 114
782 200 _
136 136
280 _

42 B
22 18 _
4 720
444 378 _
84 84
108 84 _
36 36
690 , 200 _
120 120
456 | 189 _
84 84
28X4 B
5 72
108 2
20 711

255
114

582
136

20

3

396
104

66
84

282
36

890
120

645
84

112
110

216
220

85
38

291

68

(@)}
(USRI )

99
26

11
14

89
12

215

28

56
55

54
55

Note:

21
26
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